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AER O BRIk X G E

HR3—2 BEWICERT HLBESNHEHECET HERA/1) ) ) RAEEE | Py
SEfRHOAE | #EEE | 030E3003 BT Nz FRTEML |5 AR ] a8 5
] SMER O TimICHET 51 SERIMA
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/m%z#8z5 | 1.00 | 000 ~ 268 14229 |3mZz#z2| — ~ — — — | 100kN/M%&#B=2% | 1.00 | 1054 ~ 2338| 14229 |3m&E#Bz2% - ~ — — —
st 1.00 | 268 ~ 1047 100.00 | F=nLst | 0.00 ~ 1047 2.68 14.56 ThLst 1.00 | 5.00 ~ 1054 100.00 | =nLst | 6,00 ~ 2338| 2.68 14.36
2 100kN/m%E#8z5 | 1.00 | 000 ~ 1.73| 126.55 |3mZx#z3| — ~ — — — | 100kN/m%E#8z25 | 1.00 | 10.74 ~ 17.65| 126.55 |3mEBZ% - ~ — — —
ZhLst 1.00 | 173 ~ 952 100.00 | #hst | 000 ~ 952|227 12156 FnLsn 1.00 | .00 ~ 10.74 100.00 | #nds | 6.00 ~ 1765|227 12.15
3 100kN/m%z#8z5 | 1.00 | 000 ~ 1.92| 129.66 |3mZz#z3| — ~ — — — | 100kN/m%E#8z5 | 1.00 | 10.79 ~ 17.66| 129.66 |3mEBZ% - ~ — — —
st 1.00 | 192 ~ 9.71 100.00 | #=nLst | 0.00 ~ 9.71 | 2.50 13.39 ThList 1.00 | 5.00 ~ 10.79 100.00 | =nLst | 6,00 ~ 1766| 2.60 13.39
4 100kN/m%E#B25 | 1.00 | 000 ~ 144 121.91 |3mZBRB| — ~ — — — | 100kN/mM%&#82% | 1.00 | 1346 ~ 19.72| 121.91 |3m%&E#BZ% - ~ — — —
ThList 1.00 | 144 ~ 923 100.00 | EnLs | 000 ~ 923|282 156.08 ThLst 1.00 | 6.00 ~ 1346 100.00 | ENLS | 65,00 ~ 19.72]| 2.82 15.08
5 100kN/m%z#Z25| 100|000 ~ 247 13873 |3m&EEZBE| — ~ — — — | 100kN/m%E#25 | 1.00 | 11.13 ~ 2152 138.73 |3m&E#EZ5 - ~ — — —
st 1.00 | 247 ~ 1026 100.00 | #nLSt | 0.00 ~ 1026 2.93 16.71 ThList 1.00 | 5.00 ~ 1113 100.00 | =nLst | 6,00 ~ 2152| 2.93 15.71
P 100kN/m##82% | 1.00 | 0.00 ~ 2.54 139.82 |3mZE#BAD| — ~ — — — | 100kN/m%i#8=x5 | 1.00 | 1081 ~ 2141 139.82 |3m%#BZ5 - ~ — — —
zhLst 1.00 | 264 ~ 1032 100.00 | #hst | 0.00 ~ 1032| 2.86 156.31 FnLsn 1.00 | 5.00 ~ 1081 100.00 | #nds | 6.00 ~ 21.41)| 2.86 15.31
7 100kN/m%z#Z5| 100|000 ~ 223 13472 |3m&EEZB| — ~ — — — | 100kN/ %825 | 1.00 | 1070 ~ 2099 | 134.72 |3m&E#BZ% - ~ — — —
st 1.00 | 223 ~ 1002 100.00 | #hst | 000 ~ 1002 260 13.91 ZhLst 1.00 | 6.00 ~ 1070 100.00 | =hst | 5.00 ~ 2099 2.60 13.91
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 0.00 ~ 4.44 55.38 | =ns | 000 ~ 444 1.94 10.59 FhLst 1.00 | 6.00 ~ 5.00 55.38 | #nLS | 5,00 ~ 6.00| 1.94 10.39
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
st 1.00 | 0.00 ~ 517 64.39 | T4t | 0oo ~ 517 1.91 10.21 FhLst 1.00 | 6.00 ~ 5.90 64.39 | NS | 6.00 ~ 56.90 | 1.91 10.21
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLlst 1.00 | 0.00 ~ b5.44 67.90 | =hst | 0oo ~ 000\ 1.67 8.95 FhLst 1.00 | 6.00 ~ 6.00 67.90 | 0S| 6.00 ~ 6.00)| 1.67 8.95
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




